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FA =
FA' =
QA= kKN/m2
QA' = KN/m2
YC = kN/m3
VS = kN/m3
kKN/m3
VSW = kN/m3
= kKN/m3
:999999)
) wer = [NGEE
1270 m
) wez =[0060 m
1.600 m
) WF1 = m
) WF2 = m

WBL1' = 0.330 m
WB2' = 0.000 m
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Ng
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(Hb/V
Nc
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Hb/V
Hb/V
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Hb/V
Hb/V
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wB1
WB2 =

WF1 =
WF2

<

S

23.00 kN/m3
18.0 kN/m3
20.0 kN/m3

9.0 kN/m3
9.8 kN/m3

0.160

0.330 m
0.000 m

0.000 m

0.000 m

10.00 kN/m2

20.000 kN/m3

450 <
0.000 kN/m2
0.700
0.000 m

18.000 kKN/m3

0.000 kN/m2
0.000 m
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(m) (m) (m) Yc¢ (kN) (m | (m Mx(kN m) | My(kN m)
0.350 *  1.600 * 1000 * 23 12.880 0.175 0.800 2.254 10.304
0.000* 1600/ 2* 1000 * 23 0.000 0.000 0.533 0.000 0.000
0800* 1600/ 2* 1000 * 23 14.720 0.617 0.533 9.082 7.846
27.600 11.336 18.150
Nev = 27.600 kN
Nch = * 0.16
= 4.416 kN
( X== > = 0411 m
( ) y=> > = 0.658 m
)
(m) (m) (m) YycC S1(kN) (m) (m) Mx(KN m) | My(kN m)
0800* 0000/ 2 * 1000 * 1800 0.000 0.883 1.600 0.000 0.000
0635* 1270/ 2 * 1000 * 1800 7.258 0.773 1.177 5.610 8.543
0.165* 1270 * 1000 * 18.00 3.772 1.068 0.965 4.028 3.640
0165* 0330/ 2 * 1000 * 20.00 0.545 1.095 0.220 0.597 0.120
11575 10.235 12.303
Nsl = 11.575 kN
( ) X== > = 0.884 m
( ) y=> > = 1.063 m




(m) (m) (m) YyC s2(kN) (m) (m) Mx(KN m) | My(kN m)
0800* 0000/ 2 * 1000 * 1800 0.000 0.883 1.600 0.000 0.000
0800* 1600/ 2 * 1000 * 1800 11520 0.883 1.067 10.172 12.292
0.000 *  1.600 * 1000 * 18.00 0.000 1.150 0.800 0.000 0.000
0.000* 0000/ 2 * 1000 * 2000 0.000 1.150 0.000 0.000 0.000
11520 10.172 12.292
Ns2 = 11.520 kN
Nsh= s2 * 0.16
= 1.843 kN
( ) X== > = 0.883 m
( ) y== > = 1.067 m
Wg = 0.800 m
L = 1.000 m
q = 10.000 kN/m2
Q= g*Wg*L = 8.000 kN
X = 0.750 m
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KH'

@ = 300

a = 0.0
O = 26.6
Sl= 10.0
oel = 0.0
= 016

30.0=

209<=
al = 0.557
eal = 0.690

KH' = (s h+ysw hw +yw hw+q) 7/ (s h +ysw hw + q) * KH

KH'
o0

0.160

9.09
@ o OO0

VS = 18.0 kN/m3
VSw = 9.0 kN/m3
YW = 9.8 kN/m3
= 1.600 m
= 0.000 m
q = 10.0 kN/m2
209<
ea3d = 0.690



h=g*Kal*H*cos(d+O)*L

v=g*Kal*H*sn(®d+O)*L

pl=vys*Kal * HL * L
P2 = ys* Kal * HL * L

p3 =p2 +ysw*Kal *H2* L

q =
H = 1.600 m
L = 1.000 m
X = 0.750 m
Y = 0.800 m
YS =
YSW =
Hl1 =
H2 =

10.000 kN/m2

18.00 kN/m3

9.00 kN/m
1.270 m
0.330 m

12.733 kN/m
12.733 kN/m

3

14.387 kN/m

Phl =1/2 *{pl * H1 * cos(S1+O) + (p2 + p3 ) * H2 * cos(D1+O)}

= 10.084 kN

Pvl = 1/2 *{ pl * H1 * sOn(S1+0) + (p2 + p3 ) * H2 * sOn(S1+O)}

= 7.489 kN
p(KN/m) (m) A (m) A
1/2* 12733 * 1270 8.085 0.753 6.088
12733 * 0330 4.202 0.165 0.693
1/2* 1654* 0330 0.273 0.110 0.030
> 12.560 6.811
( ) y=2A = =

7.155 kN

5.314 kN

0542 m
0.879 m



VS = 18.00 kN/m3
VSw = 9.000 kN/m3
H1 = 1.600 m
H2 = 0.000 m

pl=vwys*Keal *Hl* L = 19.872 kN/m
p2 =wys*Kea3 *Hl1 * L = 19.872 kN/m
= 19.872 kN/m

p3=p2 +ysw > Kea3 *H2 * L

Ph2 =1/2 *{pl * H1 * cos(®el+O) + ( pl + p3) * H2 * cos(Del+O)}
= 14.215 kN

Pv2 =1/2 *{pl*Hl*sn(Sel+O) + (pl+p3)* H2 * sn(Sel+O)}

= 7.118 kN
p(KN/m) (m) A (m) A
1/2* 19872* 1600 15.898 0.533 8.474
19.872 *  0.000 0.000 0.000 0.000
1/2* 0000*  0.000 0.000 0.000 0.000
> 15.898 8.474
( ) y=>A > = 0.533 m

( ) = -y * = 0.884 m



YW = 9.80 kN/m3

WB1 = 0.330 m
WB1' = 0.330 m
Whl =yw*(2*WB1-WB1l')*WB1'/2*L = 0.534 kN
Y = 0.110 m
WB2 = 0.00 m
WB2' = 0.00 m
Wh2 =yw*(2*WB2-WB2')*WB2'/2*L = 0.000 kN
Y = 0.000 m
YW = 9.80 kN/m3
L = 1.00 m
WB1 = 0.330 m
WB1' = 0.330 m
1=1/2*(2*WB1-WB1l')*yw*B*L= 1.860 kN
X = 0.767 m
WB2 = 0.00 m
WB2' = 0.00 m
2 =1/2*(2*WB2-WB2')*yw*B*L= 0.000 kN

X = 0.575 m



(kN) X(m) X(kN m)
27.600 0411 11.344
11575 0.884 10.232
8.000 0.750 6.000
5314 0.750 3.986
7.489 0.879 6.583
~1.860 0.767 ~1.427
58.118 36.718
(Y)
(kN) Y(m) Y(kN m)
7.155 0.800 5.724
10.084 0542 5.466
0.534 0.110 0.059
17.773 11.249




= 0438 m

= B/2-X

= 0137 m
B/6= 0192 m
-B/6= 20192 m

= 2289

TAN(B) = 0700
FA = 1,500
Q1= ( /B*L)*(1+6* /B)
) 86.661 kN/m2
Q2= (

/B*L)*(1—6* /B)

14.414 kN/m2

QA= 300.00 kN/m2



(kN) X(m) X(kN m)
27.600 0411 11.344
11,520 0.883 10.172
7.118 0.884 6.292
0.000 0.575 0.000
46.238 27.808
(Y)
(kN) Y(m) Y(kN m)
(Kh= 0.16 ) 4.416 0.658 2.906
(Kh= 0.16 ) 1.843 1.067 1.966
14.215 0533 7577
0.000 0.000 0.000
20.474 12.449




= 0332 m
= B/2-X
= 0.243 m
B/3= 0383
B/3= 083 m
= 1581
TAN(B) = 0700
FA = 1.200
QL= ( /B*L)*(1+6* /B)
i 91182 kN/m2
Q2= (

/B*L)*(1—6* /B)

-10.768 kKN/m2

450.00 kN/m2



QU=Ae* (X *K*C*Nc+K*q*Ng+1/2*vy1*[B*Be*Nr)

(QA)
QA=QU/a

Qu (kN)
c . 0.000 kN/m2
q (kN/m2)

q=vYy2*Df 0.000 kN/m2
AV 20.0 kN/m2
Y2 . 18.0 kN/m2
Ae (m2)
Be (m)

Be=B-2*eB
B (m)
eB m
Df (m) 0.000 m
o3

o = 1.0

B-= 1.0

K=1+03* Df/ Be
DF' : (m) 0.000 m
NC,NQ,NG :
a

tan© :
tan©® = B/
; (kN)
B : (kN)



Be
Ae

tan©
Nq
Nr
Nc

Qu

Be
Ae

tan©
Nq
Nr
Nc
Qu
Qa

0.876
0.876
1.000
0.306
70.0
80.0
72.0
613.9
204.6

0.664
0.664
1.000
0.443
50.0
40.0
40.0
1764
88.2

m2

kN
kN

m2

kN
kN

58.1 kN

46.2 kN



(m)

m) kN/m2) | (kN)

CASE - 1 0137  2.289 86.7 58.1
0.192 150 3000 204.6

CASE - 2 0243 1581 91.2 46.2
0.383 120 4500 88.2




	4-2 重力式擁壁の検討計算
	使用説明書
	入力データ
	計算書
	目次
	１．設計条件
	２．形状寸法図
	３．荷重の組合せ
	４．荷重の計算
	５．安定の検討
	６．支持地盤の許容鉛直力
	７．安定計算総括表




